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Cong} Jer 4he €quat jon

Y= fxy =0 and Mk | 7

a,b be +wo Valueg of g /%/
|
|

7% Such Hhaf Fla) cand
’(, ) are of appesifc Signs

Let adb . The graph of Y= Foor  will yneet
‘HIE K=axis gt Some Fa,‘n+ ‘:-e‘twcl!.n Q ﬁ-tna(
b, .
Tﬁf_’ Effxtqﬂﬂn aﬂ the é’:‘r‘mgh} /{LME u{'ﬂprﬁp‘%"‘
the ftwo points [a, ftas] anmd [b, ftb) is.

8- fcay _  Feb)= Fea)

X —-a ,\}31-:.1
'

This Straight Aume thstzds with the
x  a6s (Y=op at !

QA ﬁfa‘_}—bf’(ﬂ) = C ———— A
F(b) - f(ea) |

X =
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. iF Fa) and fccy are oF oppesite
SF'.?MS “then the yvoot g bel ween A and

E + other w,se é Aies between C and

I F the * root Aies, belween a an (&
then

makc b =q
Fthy = Fecc)
Gnd re Pea.i‘ E?uaf'fan (%) agouh

.l'rF the voot Lies between b and ¢
thep
ma ke a=c
flvy=c
and repeat equation (x) again.

“The above mMmethed s applied reperted(y
.,ér'” the cfuﬂrc:} QA cCuracy 5 dl:'hfnea/-
+hat is

Conn = G, ée
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:‘ E.xqufe . i i
.‘i Find ap QPPro »rmate Va Jue oF
the voot of the equation
' x3—\- X —-) =0 whr'c}'\ Ades 10
the interval [0-6 , 1]
make i‘:_u-a iterations only !
Jfo = 234 x —
_‘F{_a-s.lzr. —0.3%6 ¢ .
F(U _ \ ::PPEI:*}.: Si9qns
F(0.53+ f1) =-0:3F5 -ve
»~ The voot Llies belween ©.5 apd \
Neowo Ad=p.5 = J
;l}ILL"éHJ; tl C = G‘F(-b}— chqJ - G-E'-f
—c.e 97 : FCb)— F(a)
Now —F{..\‘J X f{aq{q) =—-0.09%9 Lo -"IEf:iE-a,;.-

2o Ve raot Jies between 0.64 and 4
a=—C FCHJ = C
Now ¢ ° a=p.64 b=

fiay =€

c - (0:-8D0) - (1) (~00979)
\ = (~0+2979)

=0.6F2

% The approzemale oot 1§ 0672
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Exawmeple -
Fod the veal vost of €quation /n
the vange [2,3] |
X laﬁm X — .2 =0

use 3 Weratians ,*5'
FOO= % 909 x — I-2
)[‘C.'l_} = _-a.6
£f(3)= o0.23

The yoot _Aies between 2 and 3 and
& IS neay ftoe 3

Q=2 b=-3
C = -—G‘—E@—bﬂc_@ = 2.723
Flby ~ fa)
feey= —o-04 c=2.7L s b=3.
Cxa b-b
The voot les. between € apd b.
qQ=¢ R =lic)

BY vepeating the Produrt we geb

‘ﬁ}_ qpprn:xpi'mqfi; !"Gaf t".S,' '
2.739 2

3
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Exhmple : '
Solve 'H"lr: P_lfqnﬁﬂr\ :
Xtlanx = —\ \D';j Fq Ise Po stion
mﬂhuj 'nﬂe‘nr-ﬁngj with 2-5 and 3.
as +he indial approximation ef the
n:a'f WH“\ error Noel more thon 8.-00 |

Fx)= Hdanx +
Fw) = Lr.5) = —0.3675
Ftby= £(3) = o©0.5%F2y

C = & ﬁf_b) —bF(
Flb) — fta)

= 2.30 2

i
Fee) - c.0073F
we have F2.-5)x £(25012) <o

s The vool Lies etween 25 and 2.80\2
51 4 a

. The Second qpphpﬂ-fmﬂ:fvbn to the koot 'y g Ve by..

- 2802 .fr5)-2.5F 2 30)
T F(2.5) — £230)2)

= 2.798Y4

;[‘CLJ = 0.0000 39
F@a.5)» Flazijdhce

- | o
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/ v The roet  Nige bedween 2.5 and 2 7434 @
q

b
the thid approsgmatio s grven by .

C- 27184 f(2:5) — 2.5 F2.798u)
Fa.5)— f@-7984)

= 2.79%2%>

The rf-c"n-lllftaj vook s 2-798

\-\um Wor

| — CGMPLd:L the voaid DFB ‘qu_ Cﬂuﬂ*l"ah
}:,3_.1-17(-:. Q=0 .- [9--3]

¢ =00
C\'ﬂi Y 2.!?-"
z- Laa‘x = Cesx Ct1,273 zﬂ“x=(’¢3—xi
ans- |, |-363 £ = 0-0] rome
3. Sin®+ Cosx = | [1,27].

ons:  }-52%) e= oro |

Y. Plat a  flow chart J'/xow,’ﬂg,.
" Ve Solubiop,  of C__Ttl._q:l'faﬁ
{"(Ji) =0 wWhere Fhe root Uy |
'n the inferval La, bl ond +he .
rujui'!"r.a’ eryvor [§ vt Wore than <€ -
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